1st Semester Final – Work-Energy & Impulse-Momentum
Work & Energy 


vs 

Impulse & Momentum

Recall the questions…

(1) What is the work done by the pushing force?
(1) What is impulse due to Fp?

(2) What was the work done by the Normal force?
(2) What was the impulse due to N?

Remember the negative work done by friction?
Usually a negative impulse due to Ff ?

(3) What was the change in kinetic energy, 
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(3) What was 
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Remember the work-energy thm? 
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How about 
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What other kinds of work & energy problems were there?

Potential Energy: 
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Conservation of Mechanical Energy (E = K + Ug + Ue)

Roller Coaster Problem

What were some common momentum problems?

Inelastic collisions where the two objects ‘stuck’ together.

Recoil problems which also used the conservation of momentum but here pi = 0
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Elastic head-on collisions where the relative velocity of A w.r.t. B before the collision (
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 equals the negative of the relative velocity of A w.r.t. B after the collision. (ex/ If the superball hits the wall with a velocity of 5 m/s and makes an elastic collision, then its velocity after the collision will be -5 m/s.)
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